North Dakota State University Semester Report Information Student Course Experience Survey --- Course Level Summary Report Report Generated on 27JUN22 Using Data from Spring 2022

Department Information		Number		dents:			Resp	onse Key	·:	
S_Lev: 100 & 200 Level Course. Dept: ACCOUNTING	5		nned: T	his Levo our Dep	t	300 447 2399	N= D=	N Di	Agree . Agree . Jeutral . Sagree . Disagree	(4) (3) (2)
Frequencies (top row) and percent. S.D. is the Standard Deviation and							each question.			
Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R
1. This instructor provided well-defined course objectives.	4	9 3.0	23 7.7	137 45.7	124 41.3	3 1.0	Class   Department   College   University	4.286	0.826 0.826 0.877 0.928	297 437 2369 23930
<ol><li>This instructor provided content and materials that were clear and well organized.</li></ol>	4 1.3	20 6.7	38 12.7	106 35.3	129 43.0	3 1.0	Class   Department   College   University	4.191	0.969 0.953 0.997 1.046	297 438 2371 23928
3. I understood how my grades were assigned in this course.	2	7 2.3	20 6.7	100 33.3	168 56.0	3	Class   Department   College   University	4.431 4.447 4.365 4.345	0.777 0.769 0.868 0.936	297 438 2371 23914
4. I met or exceeded the course objectives given for this course.	3	9 3.0	59 19.7	148 49.3	78 26.0	3 1.0	Class   Department   College   University	3.973 4.048 4.195 4.225	0.822 0.800 0.841 0.899	297 438 2369 23893
5. The instructor was available to assist students outside of class.	4 1.3	7 2.3	53 17.7	123 41.0	110 36.7	3	Class   Department   College   University	4.189	0.869 0.845 0.934 0.957	297 438 2369 23887
6. The instructor provided feedback to me in a timely manner.	3	15 5.0	37 12.3	134 44.7	108 36.0	3 1.0	Class   Department   College   University	4.135	0.879 0.950 1.005 1.045	297 438 2371 23885
7. The instructor provided relevant feedback that helped me learn.	8 2.7	18 6.0	54 18.0	113 37.7	104 34.7	3	Class   Department   College   University	4.137	1.010 0.985 1.003 1.056	297 438 2371 23888
8. The instructor set and maintained high standards that students must meet.	4	2	36 12.0	127 42.3	127 42.3	4 1.3	Class   Department   College   University	4.305	0.798 0.792 0.869 0.903	296 437 2371 23893
9. The physical environment was conducive to learning.	7 2.3	12 4.0	43 14.3	116 38.7	117 39.0	5 1.7	Class   Department   College   University	4.124	0.955 0.918 1.037 1.039	295 436 2365 23683

Department Information		Number	of Stud	dents:			Resp	onse Key	·:	
S_Lev: 300 & 400 Level Course Dept: ACCOUNTING		ets Scar	Y	his Levour Depour Col		98 447 2399	A= N= D=	N Di	Agree . Agree . Jeutral . sagree . Disagree	(4) (3) (2)
Frequencies (top row) and percent S.D. is the Standard Deviation an							each question.			
Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R
This instructor provided     well-defined course     objectives.	1	1	3 3.1	35 35.7	52 53.1	6 6.1	Class   Department   College   University	4.478 4.297 4.286	0.718 0.826 0.877 0.928	92 437 2369 23930
<ol> <li>This instructor provided content and materials that were clear and well organized.</li> </ol>	1.0	11.0	9 9.2	32 32.7	50 51.0	5 5.1	Class   Department   College   University	4.191	0.794 0.953 0.997 1.046	93 438 2371 23928
3. I understood how my grades were assigned in this course.	1	1.0	3 3.1	31 31.6	57 58.2	5 5.1	Class   Department   College   University	4.365	0.716 0.769 0.868 0.936	93 438 2371 23914
<ol> <li>I met or exceeded the course objectives given for this course.</li> </ol>	1.0	3 3.1	11 11.2	49 50.0	29 29.6	5 5.1	Class   Department   College   University	4.195	0.808 0.800 0.841 0.899	93 438 2369 23893
5. The instructor was available to assist students outside of class.	1 1.0	0.0	7 7.1	36 36.7	49 50.0	5 5.1	Class   Department   College   University	4.189	0.727 0.845 0.934 0.957	93 438 2369 23887
6. The instructor provided feedback to me in a timely manner.	2 2.0	5 5.1	12 12.2	31 31.6	43 43.9	5 5.1	Class   Department   College   University	4.135	0.992 0.950 1.005 1.045	93 438 2371 23885
7. The instructor provided relevant feedback that helped me learn.	1	3	12 12.2	32 32.7	45 45.9	5 5.1	Class   Department   College   University	4.137	0.883 0.985 1.003 1.056	93 438 2371 23888
8. The instructor set and maintained high standards that students must meet.	1	2 2.0	5 5.1	36 36.7	49 50.0	5 5.1	Class   Department   College   University	4.305	0.782 0.792 0.869 0.903	93 437 2371 23893
9. The physical environment was conducive to learning.	2 2.0	2 2.0	2 2.0	35 35.7	52 53.1	5 5.1	Class   Department   College   University	4.124	0.826 0.918 1.037 1.039	93 436 2365 23683

Department Information		Number	of Stud	dents:			Resp	onse Key	<i>7</i> :	
S_Lev: 600, 700 & 800 Level C Dept: ACCOUNTING		ets Scan	Y	our Dep		49 447 2399	N= D=	N Di	Agree . Agree . Neutralsagree . Disagre	(4) (3) (2)
Frequencies (top row) and percent S.D. is the Standard Deviation an							each question.			
Please rate the following:	SD	D ======	N	A	SA	OMIT	AREA	MEAN	S.D.	#R ======
This instructor provided     well-defined course     objectives.	2 4.1	1 2.0	2 4.1	18 36.7	25 51.0	1 2.0	Class   Department   College   University	4.286	0.971 0.826 0.877 0.928	48 437 2369 23930
This instructor provided content and materials that were clear and well organized.	2 4.1	3 6.1	4 8.2	16 32.7	23 46.9	1 2.0	Class   Department   College   University	4.191	1.091 0.953 0.997 1.046	48 438 2371 23928
3. I understood how my grades were assigned in this course.	0.0	2 4.1	4 8.2	15 30.6	27 55.1	1 2.0	Class   Department   College   University	4.365	0.818 0.769 0.868 0.936	48 438 2371 23914
4. I met or exceeded the course objectives given for this course.	0.0	0	0.0	28 57.1	20 40.8	1 2.0	Class   Department   College   University	4.195	0.498 0.800 0.841 0.899	48 438 2369 23893
5. The instructor was available to assist students outside of class.	1 2.0	0	2 4.1	16 32.7	29 59.2	1 2.0	Class   Department   College   University	4.189	0.772 0.845 0.934 0.957	48 438 2369 23887
6. The instructor provided feedback to me in a timely manner.	3 6.1	5 10.2	4 8.2	12 24.5	24 49.0	1 2.0	Class   Department   College   University	4.135	1.263 0.950 1.005 1.045	48 438 2371 23885
7. The instructor provided relevant feedback that helped me learn.	1 2.0	3 6.1	2 4.1	20 40.8	22 44.9	1 2.0	Class   Department   College   University	4.137	0.951 0.985 1.003 1.056	48 438 2371 23888
8. The instructor set and maintained high standards that students must meet.	1 2.0	0	2 4.1	22 44.9	23 46.9	1 2.0	Class   Department   College   University	4.305	0.761 0.792 0.869 0.903	48 437 2371 23893
9. The physical environment was conducive to learning.	1 2.0	0	1 2.0	23 46.9	23 46.9	1 2.0	Class   Department   College   University	4.124	0.736 0.918 1.037 1.039	48 436 2365 23683

	Department Information			of Stud				Resp	onse Key	<i>7</i> :	
	S_Lev: 100 & 200 Level Course: Dept: BUSINESS ADMIN	3		nned: Tl	his Leve		13 392 2399	N= D=	N Di	Agree . Agree . Jeutral . sagree . Disagree	(4) (3) (2)
	Frequencies (top row) and percents S.D. is the Standard Deviation and							each question.			
	Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R
	This instructor provided well-defined course objectives.	0	0.0	7.7	7 53.8	5 38.5	0.0	Class   Department   College   University	4.308 4.356 4.286	0.630 0.810 0.877 0.928	13 390 2369 23930
2.	This instructor provided content and materials that were clear and well organized.	7.7	0.0	3 23.1	3 23.1	6 46.2	0.0	Class   Department   College   University	4.191	1.225 0.930 0.997 1.046	13 390 2371 23928
3.	I understood how my grades were assigned in this course.	0.0	0.0	7.7	6 46.2	6 46.2	0.0	Class   Department   College   University	4.365	0.650 0.852 0.868 0.936	13 390 2371 23914
4.	I met or exceeded the course objectives given for this course.	0	0.0	1 7.7	7 53.8	5 38.5	0.0	Class   Department   College   University	4.195	0.630 0.731 0.841 0.899	13 389 2369 23893
5.	The instructor was available to assist students outside of class.	0	0.0	3 23.1	4 30.8	6 46.2	0.0	Class   Department   College   University	4.189	0.832 0.860 0.934 0.957	13 389 2369 23887
6.	The instructor provided feedback to me in a timely manner.	0.0	0.0	2 15.4	6 46.2	5 38.5	0.0	Class   Department   College   University	4.135	0.725 0.851 1.005 1.045	13 390 2371 23885
7.	The instructor provided relevant feedback that helped me learn.	0	0.0	2 15.4	6 46.2	5 38.5	0.0	Class   Department   College   University	4.137	0.725 0.948 1.003 1.056	13 390 2371 23888
8.	The instructor set and maintained high standards that students must meet.	0	0.0	2 15.4	6 46.2	5 38.5	0.0	Class   Department   College   University	4.305	0.725 0.730 0.869 0.903	13 390 2371 23893
9.	The physical environment was conducive to learning.	0.0	7.7	1 7.7	6 46.2	5 38.5	0.0	Class   Department   College   University	4.124	0.899 0.968 1.037 1.039	13 389 2365 23683

Department Information		Number	of Stu	dents:			Resp	onse Key	:	
S_Lev: 300 & 400 Level Course. Dept: BUSINESS ADMIN		ets Scar	Y	our Dep	el t lege	375 392 2399	A= N= D=	N Di	Agree . Agree . eutral . sagree . Disagre	(4) (3) (2)
Frequencies (top row) and percent. S.D. is the Standard Deviation and							each question.			
Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R
1. This instructor provided well-defined course objectives.	3 0.8	13 3.5	25 6.7	140 37.3	192 51.2	2 0.5	Class   Department   College   University	4.354 4.356 4.286	0.819 0.810 0.877 0.928	373 390 2369 23930
<ol> <li>This instructor provided content and materials that were clear and well organized.</li> </ol>	7 1.9	13 3.5	38 10.1	119 31.7	196 52.3	2	Class   Department   College   University	4.191	0.922 0.930 0.997 1.046	37 39 237 2392
3. I understood how my grades were assigned in this course.	8 2.1	5 1.3	33 8.8	132 35.2	195 52.0	2 0.5	Class   Department   College   University	4.365	0.861 0.852 0.868 0.936	37: 39: 237: 2391:
4. I met or exceeded the course objectives given for this course.	0.0	7 1.9	41 10.9	160 42.7	164 43.7	3 0.8	Class   Department   College   University	4.195	0.736 0.731 0.841 0.899	37: 38 236 2389:
5. The instructor was available to assist students outside of class.	3	14 3.7	45 12.0	141 37.6	169 45.1	3	Class   Department   College   University	4.189	0.864 0.860 0.934 0.957	37 38 236 2388
6. The instructor provided feedback to me in a timely manner.	3	15 4.0	38 10.1	142 37.9	175 46.7	2 0.5	Class   Department   College   University	4.135	0.859 0.851 1.005 1.045	37 39 237 2388
7. The instructor provided relevant feedback that helped me learn.	9	14 3.7	47 12.5	132 35.2	171 45.6	2 0.5	Class   Department   College   University	4.137	0.959 0.948 1.003 1.056	37 39 237 2388
8. The instructor set and maintained high standards that students must meet.	0.0	8 2.1	30 8.0	130 34.7	205 54.7	2 0.5	Class   Department   College   University	4.305	0.732 0.730 0.869 0.903	37 39 237 2389
9. The physical environment was conducive to learning.	10 2.7	11 2.9	59 15.7	125 33.3	167 44.5	3	Class   Department   College   University	4.124	0.973 0.968 1.037 1.039	37 38 236 2368

Department Information		Number	of Stud	dents:			Resp	onse Key	·:	
S_Lev: 600, 700 & 800 Level C Dept: BUSINESS ADMIN		ts Scan	Y	our Dep	el t lege	4 392 2399	A= N= D=	N Di	Agree . Agree . Jeutral . Sagree . Disagree	(4) (3) (2)
Frequencies (top row) and percent S.D. is the Standard Deviation an							each question.			
Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R
This instructor provided     well-defined course     objectives.	0.0	0.0	0.0	1 25.0	3 75.0	0.0	Class   Department   College   University	4.286	0.500 0.810 0.877 0.928	4 390 2369 23930
This instructor provided content and materials that were clear and well organized.	0.0	0.0	0.0	1 25.0	3 75.0	0.0	Class   Department   College   University	4.191	0.500 0.930 0.997 1.046	4 390 2371 23928
3. I understood how my grades were assigned in this course.	0.0	0.0	0.0	1 25.0	3 75.0	0.0	Class   Department   College   University	4.365	0.500 0.852 0.868 0.936	4 390 2371 23914
4. I met or exceeded the course objectives given for this course.	0	0.0	0.0	1 25.0	3 75.0	0	Class   Department   College   University	4.195	0.500 0.731 0.841 0.899	4 389 2369 23893
5. The instructor was available to assist students outside of class.	0	0	0.0	1 25.0	3 75.0	0	Class   Department   College   University	4.189	0.500 0.860 0.934 0.957	4 389 2369 23887
6. The instructor provided feedback to me in a timely manner.	0	0	0.0	2 50.0	2 50.0	0	Class   Department   College   University	4.135	0.577 0.851 1.005 1.045	4 390 2371 23885
7. The instructor provided relevant feedback that helped me learn.	0.0	0.0	0.0	2 50.0	2 50.0	0	Class   Department   College   University	4.137	0.577 0.948 1.003 1.056	4 390 2371 23888
8. The instructor set and maintained high standards that students must meet.	0	0.0	0.0	1 25.0	3 75.0	0	Class   Department   College   University	4.305	0.500 0.730 0.869 0.903	4 390 2371 23893
9. The physical environment was conducive to learning.	0.0	0.0	0.0	1 25.0	3 75.0	0	Class   Department   College   University	4.124	0.500 0.968 1.037 1.039	4 389 2365 23683

	Department Information		Number					Resp	oonse Key	<b>7:</b>	
	S Lev: 100 & 200 Level Courses Dept: ENTREPRENEURSHIP	3	ts Scar	nned: Th	nis Lev	el t lege	13 58 2399	A= N= D=	N Di	Agree . Agree . Jeutral . Sagree . Disagre	(4) (3) (2)
	Frequencies (top row) and percents S.D. is the Standard Deviation and							each question			
	Please rate the following:	SD	D	N	А	SA	OMIT	AREA	MEAN	S.D.	#R
	This instructor provided well-defined course objectives.	0	1 7.7	1 7.7	6 46.2	5 38.5	0.0	Class   Department   College   University	4.154 4.211 4.286	0.899 0.921 0.877 0.928	13 57 2369 23930
2.	This instructor provided content and materials that were clear and well organized.	0.0	0.0	7.7	6 46.2	6 46.2	0.0	Class   Department   College   University	4.191	0.650 0.912 0.997 1.046	13 57 2371 23928
3.	I understood how my grades were assigned in this course.	0.0	0.0	1 7.7	6 46.2	6 46.2	0.0	Class   Department   College   University	4.365	0.650 0.794 0.868 0.936	13 57 2371 23914
4.	I met or exceeded the course objectives given for this course.	0	0	3 23.1	30.8	6 46.2	0.0	Class   Department   College   University	4.195	0.832 0.749 0.841 0.899	13 56 2369 23893
5.	The instructor was available to assist students outside of class.	0	0.0	1 7.7	5 38.5	7 53.8	0.0	Class   Department   College   University	4.189	0.660 0.935 0.934 0.957	13 57 2369 23887
6.	The instructor provided feedback to me in a timely manner.	0	0.0	1 7.7	6 46.2	6 46.2	0.0	Class   Department   College   University	4.135	0.650 0.909 1.005 1.045	13 57 2371 23885
7.	The instructor provided relevant feedback that helped me learn.	0	0.0	1 7.7	7 53.8	5 38.5	0.0	Class   Department   College   University	4.137	0.630 0.945 1.003 1.056	13 57 2371 23888
8.	The instructor set and maintained high standards that students must meet.	0	0	1 7.7	6 46.2	6 46.2	0.0	Class   Department   College   University	4.305	0.650 0.796 0.869 0.903	13 57 2371 23893
9.	The physical environment was conducive to learning.	0.0	0.0	1 7.7	5 38.5	7 53.8	0.0	Class   Department   College   University	4.124	0.660 0.887 1.037 1.039	13 57 2365 23683

North Dakota State University Semester Report Information Student Course Experience Survey --- Course Level Summary Report Report Generated on 27JUN22 Using Data from Spring 2022

Department Information		Number	of Stu	dents:			Resp	onse Key	·:	
S_Lev: 300 & 400 Level Course Dept: ENTREPRENEURSHIP		ets Scai	Y	our Dep		45 58 2399	A= N= D=	N Di	Agree . Agree . Jeutral . Sagree . Disagre	(4) (3) (2)
Frequencies (top row) and percent S.D. is the Standard Deviation an							each question.			
Please rate the following:	SD	D	N	А	SA	OMIT	AREA	MEAN	S.D.	#R
This instructor provided     well-defined course     objectives.	1 2.2	2 4.4	3 6.7	18 40.0	20 44.4	1 2.2	Class   Department   College   University	4.227 4.211 4.286	0.937 0.921 0.877 0.928	44 57 2369 23930
This instructor provided content and materials that were clear and well organized.	1 2.2	2 4.4	5 11.1	15 33.3	21 46.7	1 2.2	Class   Department   College   University	4.191	0.978 0.912 0.997 1.046	44 57 2371 23928
3. I understood how my grades were assigned in this course.	0.0	3 6.7	1 2.2	17 37.8	23 51.1	1 2.2	Class   Department   College   University	4.365	0.838 0.794 0.868 0.936	44 57 2371 23914
4. I met or exceeded the course objectives given for this course.	0.0	1 2.2	3 6.7	17 37.8	22 48.9	2 4.4	Class   Department   College   University	4.195	0.728 0.749 0.841 0.899	43 56 2369 23893
5. The instructor was available to assist students outside of class.	1 2.2	3 6.7	2 4.4	13 28.9	25 55.6	1 2.2	Class   Department   College   University	4.189	1.006 0.935 0.934 0.957	44 57 2369 23887
6. The instructor provided feedback to me in a timely manner.	1 2.2	3 6.7	1 2.2	16 35.6	23 51.1	1 2.2	Class   Department   College   University	4.135	0.978 0.909 1.005 1.045	44 57 2371 23885
7. The instructor provided relevant feedback that helped me learn.	0.0	5 11.1	4 8.9	12 26.7	23 51.1	1 2.2	Class   Department   College   University	4.137	1.025 0.945 1.003 1.056	44 57 2371 23888
8. The instructor set and maintained high standards that students must meet.	0.0	3 6.7	1 2.2	16 35.6	24 53.3	1 2.2	Class   Department   College   University	4.305	0.841 0.796 0.869 0.903	44 57 2371 23893
9. The physical environment was conducive to learning.	0.0	2 4.4	10 22.2	11 24.4	21 46.7	1 2.2	Class   Department   College   University	4.124	0.939 0.887 1.037 1.039	44 57 2365 23683

Department Information		Number	of Stu	dents:			Resp	onse Key	:	
S_Lev: 300 & 400 Level Course. Dept: FINANCE		ts Scar	Y	his Levo our Depo		378 378 2399	N= D=	N Di	Agree . Agree . eutral . sagree . Disagree	(4) (3) (2)
Frequencies (top row) and percent. S.D. is the Standard Deviation and							each question.			
Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R
This instructor provided     well-defined course     objectives.	5 1.3	16 4.2	44 11.6	144 38.1	167 44.2	2 0.5	Class   Department   College   University	4.202 4.202 4.286	0.901 0.901 0.877 0.928	376 376 2369 23930
This instructor provided content and materials that were clear and well organized.	9	33 8.7	51 13.5	122 32.3	161 42.6	2 0.5	Class   Department   College   University	4.191	1.064 1.064 0.997 1.046	376 376 2371 23928
3. I understood how my grades were assigned in this course.	5 1.3	9	29 7.7	146 38.6	187 49.5	2 0.5	Class   Department   College   University	4.365	0.825 0.825 0.868 0.936	376 376 2371 23914
4. I met or exceeded the course objectives given for this course.	7 1.9	12 3.2	64 16.9	148 39.2	146 38.6	1 0.3	Class   Department   College   University	4.195	0.919 0.919 0.841 0.899	377 377 2369 23893
5. The instructor was available to assist students outside of class.	6 1.6	9	68 18.0	126 33.3	167 44.2	2	Class   Department   College   University	4.189	0.916 0.916 0.934 0.957	376 376 2369 23887
6. The instructor provided feedback to me in a timely manner.	9	11 2.9	67 17.7	125 33.1	164 43.4	2	Class   Department   College   University	4.135	0.966 0.966 1.005 1.045	376 376 2371 23885
7. The instructor provided relevant feedback that helped me learn.	12 3.2	18 4.8	72 19.0	117 31.0	158 41.8	1 0.3	Class   Department   College   University	4.137	1.044 1.044 1.003 1.056	377 377 2371 23888
8. The instructor set and maintained high standards that students must meet.	5 1.3	15 4.0	38 10.1	140 37.0	179 47.4	1 0.3	Class   Department   College   University	4.305	0.890 0.890 0.869 0.903	377 377 2371 23893
9. The physical environment was conducive to learning.	11 2.9	23 6.1	64 16.9	109 28.8	170 45.0	1 0.3	Class   Department   College   University	4.124	1.061 1.061 1.037 1.039	377 377 2365 23683

Department Information		Number	of Stu	dents:			Resp	onse Key	<i>7</i> :	
S_Lev: 600, 700 & 800 Level Dept: MBA  Frequencies (top row) and perce	# Shee	om row)	You are p	rovided	t lege to the	right of	A= N= D= SD=	N Di Strongly	Agree . Agree . Jeutral . Sagree . Disagree	(4) (3) (2)
S.D. is the Standard Deviation Please rate the following:	SD	D	N	 А	SA	OMIT	AREA	MEAN	S.D.	#R
1. This instructor provided well-defined course objectives.	1 0.6	2 1.3	7 4.5	50 31.8	96 61.1	1 0.6	Class   Department   College   University	4.526 4.526 4.286	0.704 0.704 0.877 0.928	156 156 2369 23930
<ol> <li>This instructor provided content and materials that were clear and well organized.</li> </ol>	3 1.9	5 3.2	13 8.3	41 26.1	94 59.9	1	Class   Department   College   University	4.191	0.914 0.914 0.997 1.046	156 156 2371 23928
3. I understood how my grades were assigned in this course.	1	3 1.9	9 5.7	43 27.4	100 63.7	1 0.6	Class   Department   College   University	4.365	0.749 0.749 0.868 0.936	156 156 2371 23914
4. I met or exceeded the course objectives given for this course.	1	4 2.5	10 6.4	63 40.1	78 49.7	1 0.6	Class   Department   College   University	4.195	0.771 0.771 0.841 0.899	156 156 2369 23893
5. The instructor was available to assist students outside of class.	2 1.3	2	21 13.4	37 23.6	94 59.9	1 0.6	Class   Department   College   University	4.189	0.863 0.863 0.934 0.957	156 156 2369 23887
6. The instructor provided feedback to me in a timely manner.	3 1.9	7 4.5	16 10.2	46 29.3	84 53.5	1 0.6	Class   Department   College   University	4.135	0.957 0.957 1.005 1.045	156 156 2371 23885
7. The instructor provided relevant feedback that helped me learn.	1	3 1.9	14 8.9	42 26.8	95 60.5	2	Class   Department   College   University	4.137	0.792 0.792 1.003 1.056	155 155 2371 23888
8. The instructor set and maintained high standards that students must meet.	1	2	9 5.7	44 28.0	100 63.7	1 0.6	Class   Department   College   University	4.305	0.722 0.722 0.869 0.903	156 156 2371 23893
9. The physical environment was conducive to learning.	2 1.3	6 3.8	10 6.4	43 27.4	95 60.5	1 0.6	Class   Department   College   University	4.124	0.873 0.873 1.037 1.039	156 156 2365 23683

Department Information		Number	of Stud	dents:			Resp	onse Key	7:	
S_Lev: 300 & 400 Level Course Dept: MANAGEMENT		ts Scar	Y	nis Levo our Dep		351 353 2399	N= D=	N Di	Agree . Agree . Neutral . Sagree . Disagre	(4) (3) (2)
Frequencies (top row) and percent S.D. is the Standard Deviation an							each question.			
Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R
This instructor provided     well-defined course     objectives.	6 1.7	14 4.0	37 10.5	128 36.5	164 46.7	2 0.6	Class   Department   College   University	4.232 4.225 4.286	0.916 0.931 0.877 0.928	349 351 2369 23930
This instructor provided content and materials that were clear and well organized.	13 3.7	22 6.3	33 9.4	133 37.9	149 42.5	10.3	Class   Department   College   University	4.191	1.049 1.060 0.997 1.046	350 352 2371 23928
3. I understood how my grades were assigned in this course.	10 2.8	14 4.0	25 7.1	119 33.9	182 51.9	1	Class   Department   College   University	4.365	0.965 0.979 0.868 0.936	350 352 2371 23914
4. I met or exceeded the course objectives given for this course.	7	11 3.1	54 15.4	148 42.2	130 37.0	10.3	Class   Department   College   University	4.195	0.908 0.922 0.841 0.899	350 352 2369 23893
5. The instructor was available to assist students outside of class.	15 4.3	17 4.8	74 21.1	117 33.3	127 36.2	1	Class   Department   College   University	4.189	1.073 1.083 0.934 0.957	350 352 2369 23887
6. The instructor provided feedback to me in a timely manner.	18 5.1	21 6.0	61 17.4	114 32.5	136 38.7	1 0.3	Class   Department   College   University	4.135	1.125 1.134 1.005 1.045	350 352 2371 23885
7. The instructor provided relevant feedback that helped me learn.	8 2.3	22 6.3	57 16.2	116 33.0	147 41.9	1 0.3	Class   Department   College   University	4.137	1.019 1.031 1.003 1.056	350 352 2371 23888
8. The instructor set and maintained high standards that students must meet.	6 1.7	11 3.1	45 12.8	125 35.6	163 46.4	1 0.3	Class   Department   College   University	4.305	0.909 0.924 0.869 0.903	350 352 2371 23893
9. The physical environment was conducive to learning.	12 3.4	13 3.7	71 20.2	103 29.3	149 42.5	3 0.9	Class   Department   College   University	4.124	1.045 1.056 1.037 1.039	348 350 2368

	Department Information		Number					Resp	onse Key	<i>'</i> :	
	S_Lev: 600, 700 & 800 Level Dept: MANAGEMENT Frequencies (top row) and percent	Courses # Shee	ts Scan	ned: Th Yo Yo are pr	is Leve ur Dept ur Coli	to the	right of	A= N= D= SD=	N Di Strongly	Agree . Agree . Jeutral . sagree . Disagree	(4) (3) (2)
	S.D. is the Standard Deviation a	SD	 D		A	SA	OMIT	AREA	MEAN	S.D.	#R
	This instructor provided well-defined course objectives.	1 50.0	0	0	0	1 50.0	0.0	Class   Department   College   University	3.000 4.225 4.286	2.828 0.931 0.877 0.928	2 351 2369 23930
2.	This instructor provided content and materials that were clear and well organized.	1 50.0	0.0	0.0	0.0	1 50.0	0	Class   Department   College   University	4.191	2.828 1.060 0.997 1.046	2 352 2371 23928
3.	I understood how my grades were assigned in this course.	1 50.0	0.0	0.0	0.0	1 50.0	0.0	Class   Department   College   University	4.365	2.828 0.979 0.868 0.936	2 352 2371 23914
4.	I met or exceeded the course objectives given for this course.	1 50.0	0.0	0.0	0.0	1 50.0	0	Class   Department   College   University	4.195	2.828 0.922 0.841 0.899	2 352 2369 23893
5.	The instructor was available to assist students outside of class.	1 50.0	0.0	0	0.0	1 50.0	0.0	Class   Department   College   University	4.189	2.828 1.083 0.934 0.957	2 352 2369 23887
6.	The instructor provided feedback to me in a timely manner.	1 50.0	0.0	0	0.0	1 50.0	0	Class   Department   College   University	4.135	2.828 1.134 1.005 1.045	2 352 2371 23885
7.	The instructor provided relevant feedback that helped me learn.	1 50.0	0.0	0	0.0	1 50.0	0.0	Class   Department   College   University	4.137	2.828 1.031 1.003 1.056	2 352 2371 23888
8.	The instructor set and maintained high standards that students must meet.	1 50.0	0	0	0.0	1 50.0	0	Class   Department   College   University	4.305	2.828 0.924 0.869 0.903	2 352 2371 23893
9.	The physical environment was conducive to learning.	1 50.0	0	0	0.0	1 50.0	0	Class   Department   College   University	4.124	2.828 1.056 1.037 1.039	2 350 2365 23683

Department Information	of Stud				Resp	oonse Key	:					
S_Lev: 300 & 400 Level Course Dept: MANAGEMENT INFORMATION	s SYSTEM	1S	nned: Tl	nis Lev		95 118 2399	8 D= Disagree(2)					
Frequencies (top row) and percent S.D. is the Standard Deviation an							each question.	•				
Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R		
This instructor provided     well-defined course     objectives.	1 1.1	4 4.2	12 12.6	30 31.6	48 50.5	0	Class   Department   College   University	4.263 4.356 4.286	0.913 0.892 0.877 0.928	95 118 2369 23930		
This instructor provided content and materials that were clear and well organized.	2 2.1	7 7.4	10 10.5	26 27.4	50 52.6	0	Class   Department   College   University	4.191	1.041 1.032 0.997 1.046	95 118 2371 23928		
3. I understood how my grades were assigned in this course.	2 2.1	2 2.1	9 9.5	29 30.5	53 55.8	0	Class   Department   College   University	4.365	0.898 0.882 0.868 0.936	95 118 2371 23914		
<ol> <li>I met or exceeded the course objectives given for this course.</li> </ol>	1	2 2.1	9 9.5	37 38.9	46 48.4	0	Class   Department   College   University	4.195	0.816 0.787 0.841 0.899	95 118 2369 23893		
5. The instructor was available to assist students outside of class.	0.0	1	15 15.8	26 27.4	53 55.8	0	Class   Department   College   University	4.189	0.788 0.748 0.934 0.957	95 118 2369 23887		
6. The instructor provided feedback to me in a timely manner.	1 1.1	5 5.3	18 18.9	29 30.5	42 44.2	0	Class   Department   College   University	4.135	0.966 0.997 1.005 1.045	95 118 2371 23885		
7. The instructor provided relevant feedback that helped me learn.	2 2.1	5 5.3	17 17.9	22 23.2	49 51.6	0	Class   Department   College   University	4.137	1.038 0.981 1.003 1.056	95 118 2371 23888		
8. The instructor set and maintained high standards that students must meet.	3 3.2	4 4.2	8 8.4	29 30.5	51 53.7	0	Class   Department   College   University	4.305	1.005 0.951 0.869 0.903	95 118 2371 23893		
9. The physical environment was conducive to learning.	7	9 9.5	5 5.3	27 28.4	47 49.5	0	Class   Department   College   University	4.124	1.267 1.238 1.037 1.039	95 118 2365 23683		

Department Information		Number	of Stu	dents:		Response Key:					
S_Lev: 600, 700 & 800 Level C Dept: MANAGEMENT INFORMATION	SYSTEM		Y	his Levo our Dep		23 118 2399	(5) (4) (3) (2) e (1)				
Frequencies (top row) and percent: S.D. is the Standard Deviation and	d #R is	the Nu	umber o	f Valid			each question.				
Please rate the following:	SD	D	N	А	SA	OMIT	AREA	MEAN	S.D.	#R	
This instructor provided     well-defined course     objectives.	0.0	0.0	3 13.0	0.0	20 87.0	0	Class   Department   College   University	4.286	0.689 0.892 0.877 0.928	23 118 2369 23930	
This instructor provided content and materials that were clear and well organized.	1 4.3	0	1 4.3	2 8.7	19 82.6	0	Class   Department   College   University	4.191	0.935 1.032 0.997 1.046	23 118 2371 23928	
3. I understood how my grades were assigned in this course.	0.0	1 4.3	1 4.3	0.0	21 91.3	0	Class   Department   College   University	4.365	0.736 0.882 0.868 0.936	23 118 2371 23914	
I met or exceeded the course objectives given for this course.	0.0	0.0	1 4.3	3 13.0	19 82.6	0	Class   Department   College   University	4.195	0.518 0.787 0.841 0.899	23 118 2369 23893	
5. The instructor was available to assist students outside of class.	0.0	0.0	0.0	1 4.3	22 95.7	0	Class   Department   College   University	4.189	0.209 0.748 0.934 0.957	23 118 2369 23887	
6. The instructor provided feedback to me in a timely manner.	1 4.3	1 4.3	0.0	1 4.3	20 87.0	0	Class   Department   College   University	4.135	1.027 0.997 1.005 1.045	23 118 2371 23885	
7. The instructor provided relevant feedback that helped me learn.	0.0	0.0	0.0	4 17.4	19 82.6	0	Class   Department   College   University	4.137	0.388 0.981 1.003 1.056	23 118 2371 23888	
8. The instructor set and maintained high standards that students must meet.	0.0	0.0	1 4.3	2 8.7	20 87.0	0	Class   Department   College   University	4.305	0.491 0.951 0.869 0.903	23 118 2371 23893	
9. The physical environment was conducive to learning.	1 4.3	0.0	2 8.7	0.0	20 87.0	0	Class   Department   College   University	4.124	0.982 1.238 1.037 1.039	23 118 2365 23683	

Department Information		Response Key:								
S_Lev: 300 & 400 Level Course Dept: MARKETING	ses # Sheets		Y	our Dep		355 357 2399	A= N= D=	= Neutral(3)		
Frequencies (top row) and percent S.D. is the Standard Deviation an							each question.			
Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R
This instructor provided     well-defined course     objectives.	6 1.7	12 3.4	27 7.6	128 36.1	172 48.5	10 2.8	Class   Department   College   University	4.299 4.300 4.286	0.886 0.885 0.877 0.928	345 347 2369 23930
This instructor provided content and materials that were clear and well organized.	8 2.3	19 5.4	33 9.3	118 33.2	167 47.0	10 2.8	Class   Department   College   University	4.191	0.984 0.982 0.997 1.046	345 347 2371 23928
3. I understood how my grades were assigned in this course.	7	13 3.7	22 6.2	113 31.8	190 53.5	10 2.8	Class   Department   College   University	4.365	0.910 0.908 0.868 0.936	345 347 2371 23914
<ol> <li>I met or exceeded the course objectives given for this course.</li> </ol>	3	8 2.3	26 7.3	143 40.3	165 46.5	10 2.8	Class   Department   College   University	4.195	0.786 0.784 0.841 0.899	345 347 2369 23893
5. The instructor was available to assist students outside of class.	6 1.7	14 3.9	49 13.8	115 32.4	160 45.1	11 3.1	Class   Department   College   University	4.189	0.946 0.951 0.934 0.957	344 346 2369 23887
6. The instructor provided feedback to me in a timely manner.	14 3.9	23 6.5	36 10.1	109 30.7	163 45.9	10 2.8	Class   Department   College   University	4.135	1.095 1.093 1.005 1.045	345 347 2371 23885
7. The instructor provided relevant feedback that helped me learn.	11 3.1	21 5.9	30 8.5	119 33.5	164 46.2	10 2.8	Class   Department   College   University	4.137	1.033 1.031 1.003 1.056	345 347 2371 23888
8. The instructor set and maintained high standards that students must meet.	9 2.5	10 2.8	31 8.7	124 34.9	171 48.2	10 2.8	Class   Department   College   University	4.305	0.931 0.929 0.869 0.903	345 347 2371 23893
9. The physical environment was conducive to learning.	19 5.4	18 5.1	41 11.5	107 30.1	158 44.5	12 3.4	Class   Department   College   University	4.124	1.135 1.132 1.037 1.039	343 345 2365 23683

Department Information		Number	of Stud	dents:			Resp	onse Key	<b>7:</b>						
Dept: MARKETING	# Sheets Scanned: This Level														
S.D. is the Standard Deviation ar Please rate the following:	d #R is	s the Nu  D	mber o: N	f Valid  A	Respons SA	omit	AREA	MEAN	S.D.	#R					
1. This instructor provided well-defined course objectives.	0.0	0	0.0	1 50.0	1 50.0	0.0	Class   Department   College   University	4.500 4.300 4.286	0.707 0.885 0.877 0.928	2 347 2369 23930					
This instructor provided content and materials that were clear and well organized.	0.0	0.0	0.0	1 50.0	1 50.0	0.0	Class   Department   College   University	4.191	0.707 0.982 0.997 1.046	2 347 2371 23928					
3. I understood how my grades were assigned in this course.	0.0	0	0.0	1 50.0	1 50.0	0	Class   Department   College   University	4.365	0.707 0.908 0.868 0.936	2 347 2371 23914					
4. I met or exceeded the course objectives given for this course.	0.0	0	0.0	1 50.0	1 50.0	0.0	Class   Department   College   University	4.195	0.707 0.784 0.841 0.899	2 347 2369 23893					
5. The instructor was available to assist students outside of class.	0.0	1 50.0	0.0	0.0	1 50.0	0.0	Class   Department   College   University	4.189	2.121 0.951 0.934 0.957	2 346 2369 23887					
6. The instructor provided feedback to me in a timely manner.	0.0	0	0.0	1 50.0	1 50.0	0.0	Class   Department   College   University	4.135	0.707 1.093 1.005 1.045	2 347 2371 23885					
7. The instructor provided relevant feedback that helped me learn.	0.0	0	0.0	1 50.0	1 50.0	0.0	Class   Department   College   University	4.137	0.707 1.031 1.003 1.056	2 347 2371 23888					
8. The instructor set and maintained high standards that students must meet.	0.0	0	0.0	1 50.0	1 50.0	0	Class   Department   College   University	4.305	0.707 0.929 0.869 0.903	2 347 2371 23893					
9. The physical environment was conducive to learning.	0.0	0	0	1 50.0	1 50.0	0	Class   Department   College   University	4.124	0.707 1.132 1.037 1.039	2 345 2365 23683					

	Department Information			of Stud				Resp	onse Key	<b>7:</b>			
	S_Lev: 100 & 200 Level Course Dept: TRANSPORTATION & LOGIS	es STICS # Shee	ets Sca	nned: Tl Yo Yo	nis Levo our Dep our Col	t lege		D= Disagree(2)					
	Frequencies (top row) and percent S.D. is the Standard Deviation ar							each question.					
====	Please rate the following:	SD	D	N	A	SA	OMIT	AREA	MEAN	S.D.	#R		
	This instructor provided well-defined course objectives.	6 6.5	2 2.2	10 10.9	38 41.3	34 37.0	2 2.2	Class   Department   College   University	4.286	1.091 1.059 0.877 0.928	90 137 2369 23930		
2.	This instructor provided content and materials that were clear and well organized.	6 6.5	0.0	9	34 37.0	41 44.6	2 2.2	Class   Department   College   University	4.191	1.070 1.028 0.997 1.046	90 137 2371 23928		
3.	I understood how my grades were assigned in this course.	6 6.5	1	9 9.8	30 32.6	44 47.8	2 2.2	Class   Department   College   University	4.365	1.104 1.022 0.868 0.936	90 137 2371 23914		
4.	I met or exceeded the course objectives given for this course.	5 5.4	1	15 16.3	32 34.8	36 39.1	3 3.3	Class   Department   College   University	4.195	1.065 0.957 0.841 0.899	89 136 2369 23893		
5.	The instructor was available to assist students outside of class.	7 7.6	2 2.2	8 8.7	33 35.9	40 43.5	2 2.2	Class   Department   College   University	4.189	1.154 1.061 0.934 0.957	90 137 2369 23887		
6.	The instructor provided feedback to me in a timely manner.	7 7.6	1 1.1	10 10.9	34 37.0	38 41.3	2 2.2	Class   Department   College   University	4.135	1.135 1.122 1.005 1.045	90 137 2371 23885		
7.	The instructor provided relevant feedback that helped me learn.	6 6.5	2 2.2	8 8.7	38 41.3	36 39.1	2 2.2	Class   Department   College   University	4.137	1.089 1.128 1.003 1.056	90 137 2371 23888		
8.	The instructor set and maintained high standards that students must meet.	7 7.6	2 2.2	10 10.9	38 41.3	33 35.9	2 2.2	Class   Department   College   University	4.305	1.132 1.096 0.869 0.903	90 137 2371 23893		
9.	The physical environment was conducive to learning.	10 10.9	2 2.2	22 23.9	33 35.9	23 25.0	2 2.2	Class   Department   College   University	4.124	1.213 1.160 1.037 1.039	90 137 2365 23683		

Department Information	on		Number	of Stu		Resp	onse Key	<i>'</i> :					
Dept: TRANSPORTA													
Frequencies (top row) S.D. is the Standard	Deviation and	d #R is	s the Nu	umber o	f Valid	Respons	es.						
Please rate the follo		SD =====	D ======	N 	A 	SA ======	OMIT	AREA		S.D.			
1. This instructor prov well-defined course objectives.	7ided	0.0	5 17.2	3 10.3	11 37.9	10 34.5	0.0	Class   Department   College   University	4.286	1.081 1.059 0.877 0.928	29 137 2369 23930		
2. This instructor provontent and material were clear and well	s that	1 3.4	2 6.9	5 17.2	13 44.8	8 27.6	0	Class   Department   College   University	4.191	1.026 1.028 0.997 1.046	29 137 2371 23928		
3. I understood how my were assigned in thi		0.0	1 3.4	4 13.8	9 31.0	15 51.7	0	Class   Department   College   University	4.365	0.850 1.022 0.868 0.936	29 137 2371 23914		
4. I met or exceeded the objectives given for this course.		0.0	0.0	4 13.8	14 48.3	11 37.9	0	Class   Department   College   University	4.195	0.689 0.957 0.841 0.899	29 136 2369 23893		
5. The instructor was a to assist students of class.		0.0	2 6.9	5 17.2	11 37.9	11 37.9	0.0	Class   Department   College   University	4.189	0.923 1.061 0.934 0.957	29 137 2369 23887		
6. The instructor provi feedback to me in a manner.		2 6.9	2 6.9	2 6.9	8 27.6	15 51.7	0	Class   Department   College   University	4.135	1.235 1.122 1.005 1.045	29 137 2371 23885		
7. The instructor provi relevant feedback th helped me learn.		3	1 3.4	6 20.7	6 20.7	13 44.8	0	Class   Department   College   University	4.137	1.329 1.128 1.003 1.056	29 137 2371 23888		
8. The instructor set a maintained high star that students must m	ndards	1 3.4	2 6.9	4	9 31.0	13 44.8	0	Class   Department   College   University	4.305	1.100 1.096 0.869 0.903	29 137 2371 23893		
9. The physical enviror conducive to learning		1 3.4	0.0	5 17.2	10 34.5	13 44.8	0	Class   Department   College   University	4.124	0.966 1.160 1.037 1.039	29 137 2365 23683		

Department Information Number of Students: Response Key:										
S_Lev: 600, 700 & 800 Level ( Dept: TRANSPORTATION & LOGI(	STICS # Shee	om row	Yo Yo ) are p:	our Depour Col		right of	A= N= D= SD=	N Di Strongly	Agree . Agree . Yeutral . Sagree . Disagree	(4) (3) (2)
S.D. is the Standard Deviation as Please rate the following:	SD	D	N	 А	SA	OMIT	AREA	MEAN	S.D.	#R
This instructor provided     well-defined course     objectives.	0	0	0	3 16.7	15 83.3	0.0	Class   Department   College   University	4.833 4.102 4.286	0.383 1.059 0.877 0.928	18 137 2369 23930
This instructor provided content and materials that were clear and well organized.	0.0	0.0	0.0	4 22.2	14 77.8	0.0	Class   Department   College   University	4.191	0.428 1.028 0.997 1.046	18 137 2371 23928
3. I understood how my grades were assigned in this course.	0.0	1 5.6	0.0	4 22.2	13 72.2	0.0	Class   Department   College   University	4.365	0.778 1.022 0.868 0.936	18 137 2371 23914
4. I met or exceeded the course objectives given for this course.	0	0.0	2 11.1	7 38.9	9 50.0	0	Class   Department   College   University	4.195	0.698 0.957 0.841 0.899	18 136 2369 23893
5. The instructor was available to assist students outside of class.	0	0.0	1 5.6	5 27.8	12 66.7	0	Class   Department   College   University	4.189	0.608 1.061 0.934 0.957	18 137 2369 23887
6. The instructor provided feedback to me in a timely manner.	0	0.0	4 22.2	3 16.7	11 61.1	0	Class   Department   College   University	4.135	0.850 1.122 1.005 1.045	18 137 2371 23885
7. The instructor provided relevant feedback that helped me learn.	0	1 5.6	1 5.6	3 16.7	13 72.2	0	Class   Department   College   University	4.137	0.856 1.128 1.003 1.056	18 137 2371 23888
8. The instructor set and maintained high standards that students must meet.	0	0.0	3 16.7	2 11.1	13 72.2	0	Class   Department   College   University	4.305	0.784 1.096 0.869 0.903	18 137 2371 23893
9. The physical environment was conducive to learning.	0.0	0.0	4 22.2	2 11.1	12 66.7	0	Class   Department   College   University	4.124	0.856 1.160 1.037 1.039	18 137 2365 23683